E—HEETEFIIS% WER
HhE 3% (M)

YR = 5

1. B2 ABCHIEK M9, BHsin A:sin B:sin ¢ =3:2:4 , M cosC=_____

]
2. TEAABC H, & a=3,cos A=—— W AABc HIIMEEBIFER N

2
3. HAABCH , B=135°, C=15°, a=5, MIt=AEMNERBLKH

4, EETINEBRNEFLERI(a,} , a, =1, a,+a,+a,=7 ,Ma, =____;BInIHS, =

5. BAIZERE(a) W8I0 TIIRIA S, |, Ba, =18—-a, , WS, =

6. BHZENI(2) MAER2, Ea, a,, a, RELKE), Ma, +a, BER
7. BAIEOI(a ) BRI BRI S =n” +1 , MBAAR & =

8. TEAABC H, & 2cos Bsin A=sin ¢, WM AABC ISk —ER___ =AW

9, BAIEEF(a) HRa =1,4a,=—2 (neN" ) Ma =___
3a, +1

10, Ba b cHELEE , mBa b WEERR, n2b chyZEhm, M2 +5=_
m n

x—4y+3<0
1, TE X, y#BE3x+5y<25 , MEHGEH z=2x+ yNIR/IMER______
X 21

o S Py Y 1 4 (g LR W o —_-—
12, BAIANERE x, y BEx+y=4 , WEREFER —+ — > m BRIIAISER m BSEREIR
Xy

13. AABC hiifa=fH, a=3,b=4,c=x,fC BHEA , N x WEYESSE }
14, —MEMAHERNEERT {2, ) IFInIFI S HR : S, =5, , WEHS |RAR, n=___

15. B4Na, b, c B AABC T A B, C FIWH, S B AABC WER.Ba=4b=5 =53 Kific
FKE.



16, IRFEHINa, BRI n A S, , BFla, =24 , S, =0 .
(1) XKa, ;(2) K&K a, IR n WM S, (3) = nRAMER , 5 &KX, FKs HEKXE.

17, BHIEH f(x) =log,(ax+b) MEIRZT R A4(2,1) T B(52) ,iBa, =3"", nenN’.
(1) KEI{a ) FBIMAT ;(2) {a,} BT » ITF ;



18, ZREE— 1 ER A 392m” WKFGHIEKE FEENBEEEREE R 2m Fl4m BN
EIFfR ) [RIFABEIRFIZES B 02 LKE , SHERE) ? FRE SHER&EIME,

19, BHES A={x|(x=2)[x—(3a+1)] <0} , B=(2a,a’+1)
(1) HHa=20,KANB; (2)KfFE B c AKE a WEVETEE



2018851 (o} WRIGIFON S, ,BS, =2-—— , (b WEEMF], Ba =b , a,(b,—b) =a,.

PR

2
(1) KRG a y} F(p y BN ;

(2)i8c =20, REB o | H951 0 I T,
a

n



:
- 2 43 ; 3.5v2; 4 a =2""_ s =2"-1; 5 72; 6. —10 ;

4
2 n=1 . _ , 1
7. a,= ; 8. FE=MAK ; 9, ; 10, 2; 11, 3;
2n—1 n=2 3n—2
9
12 m<—; 13, 5<x<7 ; 14, 788 ;
4
- 1 ) ) 3 1T 1
15, 8. S=—absinC @>sinC =— =>cos C =—8f——
2 2 2 2
¢ =a’>+b*—2abcosC =21 8,61, ..c=4/21TK~61.
a +2d =24
7 BE =z 7 A= a1=40 .
16, % :(1) KF=EE 11 %10 ,B2ZE , - a, =48 —8n.
1a, + d=0 d=-8

(a,+a,)n (40+48—8n)n
2 2

= —4n° +44n.

(2)BI(1)%0, 5 =40, a =48 —8n, - S =

(3)B(I)E, S, = —4n’ +44n = -4(,,_uj c121
2

WY n=53n=6B, s BA, s HEAMEH120.

NN L. NN ey 392 R N 2 =
17, BB BRI xm |, MK HIERD —m, XiR&GHEER ym” |, KEE ,

X

- 392 784 *
Sy =(x+8)(—+4) =424 +4(x+——) 2424 +224 =648 —
X X
784 +
HB{XEH x=— B0 x =28 B,B"=". —P s m [— —pl i g—
X
e . esms L . 73 o s . *
KRR 28m,3-"ﬁ'j‘j7mHTj b ER SN 648 m ;



18, & :(1)Ha=28,A=(2,7),B=(4,5),- AB=(4,5).

]
()~ B=(2a,a+1), Ya<—K,A= (3a+1,2),
3

2a>3a+1 1
BEB cA, WA MRt a= -1; Y a=—B ,A=0 , B CAM a RNFE ;
a’+1<2 3
1 2a=>2
Ha>—-B,A=(2,3a+1), EBfEB cA, WM , LERT 1<a<3.
3 a’ +1<3a+1

REVIHD, £ B c ARYSEEN a WOBESSEA[T , 3lU{- 1}



